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1., BB

(1) BB
=l Eas 4,510,000 3,400,000 1,110,000
SEEUNA 4,510,000 3,400,000 1,110,000
ZEEF & 4,500,000 6,000,000 -1,500,000
=GR N 4,500,000 6,000,000 -1,500,000
MEUR 25 0 0 0
ZEH 2 0 0 0
REUNERET 9,010,000 9,400,000 -390,000

(2) BEEH
EXE 7,546,000 7,996,000 -450,000
d=E 120,000 100,000 20,000
REEE 150,000 240,000 -90,000
BIEE 100,000 160,000 -60,000
HERE 280,000 120,000 160,000
EARE 440,000 600,000 -160,000
HARE 216,000 216,000 0
KBHBE 80,000 80,000 0
EE = 0 0 0
SEE 30,000 52,000 -22,000
R IN: D 6,000,000 6,000,000 0
AR 0 72,000 -72,000
FEREE 30,000 36,000 -6,000
B 100,000 320,000 -220,000
SBE 1,294,000 1,404,000 -110,000
1% SR 500,000 480,000 20,000
REXRE 30,000 60,000 -30,000
BEE 30,000 40,000 -10,000
HERE 70,000 30,000 40,000
EEARE 300,000 400,000 -100,000
wHRE 144,000 144,000 0
KB EE 20,000 20,000 0
EE = 0 0 0
SHEBE 70,000 78,000 -8,000
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S B RERE HIEE B
BE7N:U) )% 0 0 0
LTSS 80,000 48,000 32,000
FHREE 20,000 24,000 -4,000
¥E 30,000 80,000 -50,000
BEERE 8,840,000 9,400,000 -560,000
LR B IEREE 170,000 0 170,000

2. BEBNEROEL
(1) BEANU 0 0 0
R ANESET 0 0 0
(2) BREANER 0 0 0
BEAERE 0 0 0
LHARRE S IEIRER 0 0 0
L HA— % IE R BA EE SRR 170,000 0 170,000
— MR ERERS 0 0 0
— R EREAEARES 170,000 0 170,000
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L HRTE TE IE SR EE IERLER 0 0 0
EEERERERS 0 0 0
B EREERFRES 0 0 0
I IERREA R R A S 170,000 0 170,000




